
Statistics for SAT 

 

1.  If the mean of numbers 28, x, 42, 78 and 104 is 62, what is the mean of 48, 62, 98, 124 and x? 

A) 78                          B) 58                     C) 390                       D) 310                           E) 66 

  

 

 

2. The arithmetic mean of the 5 consecutive integers starting with 's' is 'a'. What is the arithmetic mean 

of 9 consecutive integers that start with s + 2? 

A) 2+s+a                     B) 22+a                C) 2s                      D) 2a+2                       E) 4+a 

 

 

 

3. The average weight of a group of 30 friends increases by 1 kg when the weight of their football 

coach was added. If average weight of the group after including the weight of the football coach is 31 

kg, what is the weight of their football coach? 

A) 31                      B) 60                   C) 61                       D) 62                       E) 91 

 

 

 

4. The average wages of a worker during a fortnight comprising 15 consecutive working days was $90 

per day. During the first 7 days, his average wages was $87 per day and the average wages during the 

last 7 days was $92 per day. What was his wage on the 8th day? 

A) $ 83                        B) $ 90                   C) $ 92                       D) $ 97                  E) $ 104 

 

 

 

5.  The average of 5 numbers is 6. The average of 3 of them is 8. What is the average of the remaining 

two? 

A) 0.5                       B) 3                  C) 3.5                         D) 4                     E) 5 



6.  The average age of a group of 10 students was 20. The average age increased by 2 years when two 

new students joined the group. What is the average age of the two new students who joined the group? 

A)  22 years                  B) 30 years                C) 32 years        D) 44 years      E) non of these                          

 

 

7. Data Sufficiency:  

If m, s are the average and standard deviation of integers a, b, c, and d, is s > 0? 

1. 𝑚 > 𝑎 

2. 𝑎 + 𝑏 + 𝑐 + 𝑑 = 0 

 

 

8.   Positive integers from 1 to 45, inclusive are placed in 5 groups of 9 each. What is the highest 

possible average of the medians of these 5 groups? 

A) 15                          B) 23                    C) 25                     D) 26                   E) 31 

 

 

 

9. If the average of 5 positive integers is 40 and the difference between the largest and the smallest of 

these 5 numbers is 10, what is the maximum value possible for the largest of these 5 integers? 

A) 44                         B) 48                      C) 49                    D) 50                     E) 52 

 

 

 

10. Data Sufficiency:  

Is 'b' the median of 3 numbers a, b, and c? 

1. 
𝒃

𝒂
=

𝒄

𝒃
 

2. 𝑎𝑏 < 0 

 

 

Answers:   1.A       2.E       3.C       4.D       5.B       6.C      7.A      8.E      9.B      10.C 

Hazırlayan:  Kemal Duran , www.buders.com ve  www.bumatematikozelders.com  

http://www.buders.com/
http://www.bumatematikozelders.com/

